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1 BIES 1kg 1 BEFS  [s-zesuz 189] 1kg 2,700 1,512
2 |E:FE 1kg 2 |E=FE *+—2b5U7 164| 1kg 2,376 1,296
3 KB 1kg 3 |Kaavh | FERL 86| 1kg 1,080 702
4 |xE =81 75| 1kg 756 583 4 |=I1F 1keg
5 &L Ei& 116] 1ke 3,132 648] 5 |&HL kg
6 [LvL BE-FE 171]  1kg 432 248 6 |LvbL 1kg
1 [F2H0H Tkg 7 |[F5HULH Tkg
SAE itigiE 24| kg 1,134 8 |SAFE 1keg
9 |ARY Ea-BE 60| 1kg 3,132 1,836] 9 |5 1kg
10 |&ZL alll 52| kg 1,080 10 |&ZL 1keg
1 |H28 FRhE 6] 1kg 2,484 11 |h28 kg
12 |f=Ly == 444 kg 1,458 918| 12 |f=Ly kg
13 |[FFL =0 27| kg 540 324| 13 |IFFH 1kg
14 |[hhiy 1kg 14 |Ahis Tkg
15 (OB 1kg 15 (U5 itigiE 22| 1kg 4,104 2,052
16 | AN Tkg 16 | AN Tkg
17 |2Y AU RYT 7] kg 2,592 1,998] 17 |Z U 1keg
18 | YLy Tkg 18 | YLy Tkg
19 |1=2 dbiEE 18| 1kg 3,240 19 |f=C kg
20 | Tkg 20 |vE Tkg
21 |HsY dtiEE 10| 1k 1,512 21 |HaY 1kg
22 |XARHW 158 22 | RAHY | IKE 277| 158 19,440 540
23 |BWEHYP |Bam-#E 325 1kg 2,700 2,160| 23 |#FEHD Tkg
24 | E B4 hE 310| kg 6,102 4,482| 24 |575F 1kg
25 |ISLFEF 1kg 25 |ISLFEF 1keg
26 |HFES 1kg 26 |HFES 1kg
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1 |&aST Y7 -7Y 885| 1kg 2,808 918 1 |iESIT JYI—-7) 566| 1kg 1,512 1,188
2 |AhIz Y7 -hty 230 1kg 6,264 4,752 2 [EE IhT= R 323| 1kg 1,318 864
3 |BAY  |m7-hty 749 kg 5,400 756| 3 |IEEAFE 1kg
4 |AFLDbL |BR-EE 200| 1kg 1,134
5 [FAHL RI& 248| 1#& 335 130
6 [ bYDHA ZH 110| 1kg 2,700 2,160
1_|IhNEF Tkg




